
tpQ;Qhdk; - juk; 10 

 

G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 1 
 

%y; tpfpjk; 

 jhf;fk; 1  

               Mg + 2HCl                                     MgCl2  +  H2  

 
%y; tpfpjk;  
 

Mg : HCl  = 1 : 2 

Mg : MgCl2  = 1 : 1 

Mg : H2  = 1 : 1 

HCl : Mg = 2 : 1 

HCl : MgCl2 = 2 : 1 

HCl : H2 = 2 : 1 

MgCl2 : H2 = 1 : 1 

Mg HCl MgCl2 H2 

1 mol 2 mol 1 mol 1 mol 

2 mol 4 mol 2 mol 2 mol 

3 mol 6 mol 3 mol 3 mol 

4 mol 8 mol 4 mol 4 mol 

5 mol 10 mol 5 mol 5 mol 
 

 jhf;fk; 1  

               Fe2O3 + 3CO                                2Fe  +  3CO2  

 
%y; tpfpjk;  
 

Fe2O3 : CO  = 1 : 3 

Fe2O3 : Fe  = 1 : 2 

Fe2O3 : CO2  = 1 : 3 

Fe : Fe2O3 = 2 : 1 

Fe : CO = 2 : 3  

Fe : CO2 = 2 : 3   

CO : CO2 = 3 : 3 = 1 : 1 

Fe2O3 CO Fe CO2 

1 mol 3 mol 2 mol 3 mol 

2 mol 6 mol 4 mol 6 mol 

3 mol 9 mol 6 mol 9 mol 

0.5 mol 1.5 mol 1 mol 1.5 mol 

0.25 mol 0.75 mol 05 mol 0.75 mol 

1000 mol 3000 mol 2000 mol 3000 mol 

25 mol …………………… …………………… …………………… 

…………………… 12 mol …………………… …………………… 

…………………… …………………… 10000 mol …………………… 

…………………… …………………… …………………… 0.3 mol 
 



tpQ;Qhdk; - juk; 10 

 

G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 2 
 

,urhad fzpj;jy;fs; 

tpdh : 01  

36 g fhgid Kw;whf jfdkilar; nra;Ak; NghJ Njhd;Wk; tpistpd; jpzpitf; fhz;f.  

( C = 12 , O = 16 ) 

C + O2                                    CO2  

fhgdpd; jpzpT = 36 g 

 

fhgdpd; %yu;j;jpzpT = 12 g mol
-1 

 

                                                           m  

fhgdpd; %y; vz;zpf;if (n) = 

                                                           M 

 

                                                             36 g  

                        = 

                                                            12 g mol
-1  

 

                                                      = 3 mol 
 

%y; tpfpjk; C : CO2  = 1 : 1 

 

CO2 ,d; %y; vz;zpf;if = 3 mol 

 

CO2 %yu;j;jpzpT = 12 + ( 2 x 16 )  

                                 = 12 + 32 

                                 = 44 g mol
-1 

 

CO2 ,d; jpzpT (m) = n x M  

                                     = 3 mol x 44 g mol
-1 

                                     = 132 g 
 

/ tpistpd; jpzpT  = 132 g 
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G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 3 
 

tpdh : 02  

48 g kf;dPrpak; Kw;whf jfdkiltjw;F Njitahd xl;rprdpd; jpzpitf; fhz;f.  

( Mg = 24 , O = 16 ) 

 

2 Mg + O2                                  2 MgO  

kf;dPrpaj;jpd; jpzpT = 48 g 

 

kf;dPrpaj;jpd; %yu;j;jpzpT = 24 g mol
-1 

 

                                                                     m  

kf;dPrpaj;jpd; %y; vz;zpf;if (n) = 

                                                                     M 

 

                                                                     48 g  

                            = 

                                                                     24 g mol
-1  

 

                                                                =  2 mol 
 

%y; tpfpjk; Mg : O2  = 2 : 1 

 

O2 ,d; %y; vz;zpf;if = 
 

 
  x 2 mol  

 

                                                = 1 mol 

 

O2 %yu;j;jpzpT =  2 x 16  

                              = 32 g mol
-1

 

 

O2 ,d; jpzpT (m) = n x M  

                                   = 1 mol x 32 g mol
-1 

                                   = 32 g 
 

/ Njitahd xl;rprdpd; jpzpT  = 32 g 
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G.r\pFkhu; ( National Dip.in teaching ) gf;fk; 4 
 

tpdh : 03  

16 g xl;rprd; thAit jahupg;gjw;F Njitahd Ijurd; gunthl;irl;bd; jpzpitf;fhz;f.  

( H = 1 , O = 16 ) 

 

2 H2O2                                             2 H2O + O2 

xl;rprdpd; jpzpT = 16 g 

 

xl;rprdpd; %yu;j;jpzpT = 2 x 16 

                                            = 32 g mol
-1 

 

                                                                     m  

xl;rprdpd; %y; vz;zpf;if (n) = 

                                                                     M 

 

                                                                     16 g  

                            = 

                                                                     32 g mol
-1  

 

                                                                =  0.5 mol 
 

%y; tpfpjk; O2 : H2O2  = 1 : 2 

 

H2O2 ,d; %y; vz;zpf;if = 2 x 0.5 mol  

 

                                                = 1 mol 

 

H2O2 %yu;j;jpzpT =  ( 2 x 1 ) + ( 2 x 16 ) 

                                  = 2 + 32 

                                  = 34 g mol
-1

 

 

H2O2  ,d; jpzpT (m) = n x M  

                                   = 1 mol x 34 g mol
-1 

                                   = 34 g 
 

/ Njitahd Ijurd; gunthl;irl;bd; jpzpT  = 34 g 
 
 

tpdh : 04  

  200 g fy;rpak; fhgNdw;iw ntg;gNkw;Wk; NghJ Njhd;Wk; fy;rpak; xl;irl;bd; jpzpitf; 
fhz;f. 
tpdh : 05 

  Fwpj;j jpzpTs;s fy;rpak; fhgNdw;iw ntg;gNkw;Wk; NghJ 5.6 g fy;rpak; xl;irl;L 
Njhd;wpaJ. ntg;gNkw;wg;gl;l fy;rpak; fhgNdw;wpd; jpzpitf; fhz;f.  

( jhf;fk; : CaCO3                                 CaO  + CO2 )   ,  ( Ca = 40 , C = 12 , O = 16 ) 


